

$$N_{n+1}(x) = N_n(x) + q(x)$$

$$N_{n+1}(x_{n+1}) = f(x_{n+1})$$

$q(x) = \begin{cases} 0 & i \in \{0, \dots, n\} \\ f(x_i) - N_n(x_i) & i = n+1 \end{cases}$

$$q(x) = \frac{(x-x_0)(x-x_1)\dots(x-x_n)}{(x_{n+1}-x_0)(x_{n+1}-x_1)\dots(x_{n+1}-x_n)} \cdot (f(x_{n+1}) - N_n(x_{n+1}))$$

$$N_{n+1}(x) = a_0 + a_1(x-x_0) + a_2(x-x_0)(x-x_1) + \dots + q(x)$$

$$\frac{f(x_1) - f(x_0)}{x_1 - x_0} = \frac{f(x_{n+1}) - N_0(x_1)}{x_1 - x_0}$$

x_0	$f(x_0)$	$\frac{f(x_1) - f(x_0)}{x_1 - x_0}$	a_2
x_1	$f(x_1)$	$\frac{f(x_2) - f(x_1)}{x_2 - x_1}$	
x_2	$f(x_2)$		

$$a_2 = \frac{f(x_2) - N_1(x_2)}{(x_2 - x_0)(x_2 - x_1)}$$

$$= \frac{f(x_2) - \left[f(x_0) + \frac{f(x_1) - f(x_0)}{x_1 - x_0} (x_2 - x_0) \right]}{(x_2 - x_0)(x_2 - x_1)}$$

$$= \frac{f(x_2) - \left[f(x_0) + \frac{f(x_1) - f(x_0)}{x_1 - x_0} (x_2 - x_1 + x_1 - x_0) \right]}{(x_2 - x_0)(x_2 - x_1)}$$

$$= \frac{f(x_2) - \left[\cancel{f(x_0)} + \frac{f(x_1) - f(x_0)}{x_1 - x_0} (x_2 - x_1) + f(x_1) \cancel{f(x_0)} \right]}{(x_2 - x_0)(x_2 - x_1)}$$

$$= \frac{f(x_2) - f(x_1) - \frac{f(x_1) - f(x_0)}{x_1 - x_0} (x_2 - x_1)}{(x_2 - x_0)(x_2 - x_1)}$$

$$= \frac{\frac{f(x_2) - f(x_1)}{x_2 - x_1} - \frac{f(x_1) - f(x_0)}{x_1 - x_0}}{(x_2 - x_0)}$$

Hum... looks kind of like a 2nd derivative...